1. Question: 8 5P ¢t F@F F ¢ 515 86 FF [THT FI@ Toa1 T T® J?

A) 8¢%

B) 8%.¢0%
C) €2.9¢%
D) ¢b.2¢%

Answer: B) 8%.¢o%

Explanation: ¢fo3 33T 8 511 20T S 67 T[T 8/¢ B1F1 (515 8 6 fAma Far7 s o Rwv 7=
@/8 BT .. \fom® e 2 /8 - 8/¢ = /30 BIFT 8/¢ BIFH 7S T »/30 BIFT Soo BIFH 7S 3T (¢ X »
X $00)/(8 X X0) = CL.}C BIFT .". €b.:€% TS 2F|

2. Question: 9% FTFITAT AF6 AT FT5 €% ITGTET, N2 =7F IS JTT (F €% FAE | NI
PR EERER GIEACLCIRE

A) 8¢% FHTET TA®
B) ©.3¢% JATGTET AT
C) ¢% ST TA®
D) b.3¢% FAT TA®

Answer: B) b.2¢% IIOTET @R

Explanation: 3¢% 3(%0e 3f&E IS [T 3¢ BIFT 2% FHET 2, Soo BIFTY F WIGH ¢ BIFR
53¢ BT T WIS (9¢ X $3¢)/500 = $1.9¢ BIRT .. STHCT 3T LA JOTTH Q1T F (So0 -
29.9¢) = b.3¢%|

3. Question: I aFf% FS > T @1F L I FA© MF, AfSTE © S ((F AT FAE FSH
FoiE ¥ *E?

A)Q
B) %
C) vo
D) »

Answer: C) So

Explanation: » 3 (e1F %6 F161 FE O T S FA (1F P IS IE@ S x » i » + 0 = 53 &
(T 2P F16T FE (53 *x )/5x e = » oy



4. Question: f%T YW@ ST T4 3800 BIF I SIGT FAT IE AR A(SIF wa/zlal T STG]
339 FAE 0% 2N AMSRE So T =ra/=Iat I A A SIS & BT FE (17| ICT FOST
wra/eIat foafRe?

A) 8o
B) 8%
C) o
D) Yo

Answer: B) 8%

Explanation: &f3, S Ri@wial iy f&e & o .°. AfGoET SIGT 1800/ AMSHE TS ISI©
24 ASHH BTGT 3800/(F + S0) TIN(®,(:800/F) - (3800/(F + $0)) = ¥ BI+ FoP - 38000 =0
L, I + LOF - COF - V000 = 0 (ARG, F #- Yo " F = ¢o Taf| AT, TACT WawIAl FT f&E o
S| ACT BIEMRET (¢o + vo) = Lode

5. Question: f3e], ATeT 8 J@d IICIA 5T 09 I=F | ARTA o7 8 @ ITCH 5TG ¢ I=F | ATF
EREEIOYS

A) o IRT

B) 8v I=F

C) 8¢ 994

D) 85 3=

Answer: C) 8¢ 9=

Explanation: a1 JTeT 8 T@d IICIF WAfB=10 x 04 = L3 fFeT 8 JEF IICF TAE = X x 0e = 9o
TR, ATOTF TIT = 45% - 90 = 8% IRF

6. Question: I (x -y)2 =14 AR xy =2 3T ©E X2 + y2 = F©7?

A) 12

B) 14

C) 16

D) 18

Answer: B) 14

Explanation: x2 +y2 = (x-y)2 +2xy =14+ (2x2)=18

7. Question: J@F I o34 o FAET (Faswd Fo39 J(h MIF?



A) 8
B) b
C) 33
D) »

Answer: B) &

Explanation: &8 J1= 2r .". J(6F (Fa%el = Tir2 I feasel Jfe (T 7@ 6r " Fyp7ef = 3r .7 P
J06d (Fa%e }E m(3r)? = 9mr? .. » 89 Jfa AF|

8. Question: 936 STEITR FAFA AeE SfogEd WH L3 G 26 Agafta (Fased Fo 35f (f?

A) a2
B) 8v
C) ay
D) vy

Answer: B) 8%

Explanation: Sf&ae S@ A faged e T2 se=a .. 122=a%+a? or,144 = 2a% a=2V18 .".(Fa%
= (12/4)N{4(2\18)?-(12)% = 36 I5f (7.7 .

9. Question: Yo (¥F Yo 97 FHHIG! JAN 3 Fuo (NP NATH ITH IF

A) v

B) 3

C) v80

D) \W

Answer: B) S

Explanation: Yo (@ o a7 JEY GNITF STRATSTE IE bY, b9, 9%, 99, 95 JRaH 3 Jued N
TR SIFT =92 - LS =\b

10. Question: 2432492+ ---- +¢02=?

A) ©@ax¢

B) 8933¢

C) 8¢Goo
D) 833¢



Answer: A) ©¢Ix¢

Explanation: §T1f6a (F15%e = 1/6 x n(n + 1)(2n + 1) = (1/6) x 50 (50 + 1)(2 x 50 +1) = (1/6) x
50 x 51 x 101 = 42925

11. Question: What would have happened if ?

A) The bridge is broken

B) The bridge would break

C) The bridge had been broken

D) The bridge had broken

Answer: C) The bridge had been broken

Explanation: Third conditional sentences are used to explain that present circumstances would
be different if something different had happened in the past.

12. Question: Explain the meaning of '‘Bring to pass’.

A) Cause to destroy

B) Cause to convince

C) Cause to carry out

D) Cause to happen

Answer: D) Cause to happen

Explanation: Bring something to pass (phrase) - Cause something to happen. ‘any man must at
some point question whether it is chance or fate that brings things to pass’ Source: Oxford
Dictionary.

13. Question: Which of the following sentences is the correct one ?

A) Paper is made of wood

B) Paper is made on wood

C) Paper is made by wood

D) Paper is made from wood

Answer: D) Paper is made from wood

Explanation: Chairs are made of wood. Here, wood is still wood. It doesn't transform into



something else. - On the other hand, made from is used when the material changed its nature. -
E.g., Paper is made from wood.

14. Question: The word "bounty” is closest in meaning to-

A) Sympathy
B) familiar

C) dividing line
D) generosity

Answer: D) generosity

Explanation: Bounty (Noun) Meaning: money paid as a reward.

15. Question: Give the correct passive form of 'My teacher embodies all the good
qualities’.

A) All the good qualities are embodied by my teacher.
B) All the good qualities are embodied on my teacher.
C) All the good qualities are embodied to my teacher.
D) All the good qualities are embodied in my teacher.

Answer: A) All the good qualities are embodied by my teacher.

Explanation: Passive form 47 (FTF S A7 AT FEENR ROTE in IOV - FTET T ST ATHT
J3® embodied in &

16. Question: Choose the correct indirect speech: She asked me, 'Are you happy in your
new job?'

A) She asked me if | had been happy in my new job

B) She asked me if | have been happy in my new job
C) She asked me whether | am happy in my new job
D) She asked me if | was happy in my new job

Answer: D) She asked me if | was happy in my new job
Explanation: Reporting verb 957 AT ask,demand,enquire SN | - TS O6d [T I AT (@ T

fANGS Forea S if 271 - FAEMES PoeE 2aiE@e F919 T9F assertive @ @ fAenft: e (@
(G @ NS P68 ez (5 27|




17. Question: The meaning of the word 'obese’ is-

A) Obnoxious
B) ugly

C) tardy

D) very fat

Answer: D) very fat
Explanation: Obese (Adjective): Meaning: extremely fat in a way that is dangerous for health.

Bangla Meaning: ST (NGT Example Sentence: She was not just overweight; she was clinically
obese.

18. Question: A person who writes about his own life writes-

A) a diary

B) a biography

C) a chronicle

D) an autobiography

Answer: D) an autobiography

Explanation: Autobiography (Noun) Meaning: the biography of oneself narrated by oneself; A
person who writes about his own life writes. Bangla Meaning: SIS, A6 |

19. Question: Which of the following sentences is correct?

A) Why did you done this?

B) Why you had done this?

C) Why you have done this?

D) Why have you done this?

Answer: D) Why have you done this?

Explanation: Auxiliary verb must be placed prior to subject;Principal verb and auxiliary verb

must agree.

20. Question: What will be the correct preposition to complete the sentence? 'l am not
good translation'



A)in

B) about
C) with
D) at

Answer: D) at

Explanation: “Good with” is used when talking about people or specific objects. "good at” is
used when talking about activities or areas of expertise.

21. Question: Which is the noun form of the word 'beautiful'?

A) Beautifully
B) Beautify
C) Beauteous
D) Beauty

Answer: D) Beauty

Explanation: Beautiful is an adjective and Beauty is a noun. Meaning of Beauty: The quality of
being pleasing, especially to look at. Source: Cambridge Dictionary

22. Question: Fill in the blank with appropriate preposition. 'Hurry up! we havetogo ____
five minutes.'

A) For
B) on
C) by
D) in

Answer: C) by

Explanation: ff4g SR 31t 3T in, A8 Se o J3me by I 1 ©1F 3T Sf3F T3 F) in
TF| AFOFT IR - SILTeIfE FE1, AMEHE 416 FAGT Ty (3w 7|

23. Question: ldentify the imperative sentence.

A) | shall go to college

B) Matin is singing a song

C) It has been raining since morning
D) Stand up



Answer: D) Stand up

Explanation: Imperative sentences are used to issue a command or instruction, make a
request, or offer advice. Basically, they tell people what to do. So “stand up” is the imperative
sentence.

24, Question: Fill in the gap with the suitable word:To stay healthy, we must plan to have
a balanced-

A) Environment
B) food

C) drink

D) diet

Answer: D) diet

Explanation: 7% f3% 118 &y 3% 41w &7 balanced diet 97 S@S& |

25. Question: Choose the correct alternative and mark its letter on your answer sheet.
The rich should not look down the poor.

A) at

B) for

C) towards
D) upon

Answer: D) upon

Explanation: To look down upon is defined as to consider someone or something lesser or
inferior in some way. - An example of look down upon is to consider someone less intelligent
than you are to be dumb or stupid.

26. Question: | took a map with me, as | didn't want to my way on the journey.

A) loose

B) Loss

C) lost

D) lose

Answer: D) lose



Explanation: to 95 515 3 verb 49 present form INE | 3T lose X AFH1T verb.

27. Question: Every driver must be held his own actions.
A) blamed for

B) responsible to

C) liable to

D) responsible for

Answer: D) responsible for

Explanation: (FT@T 1@ I Foa1F S5 7131 JATATF (F(@ responsible for 23|

28. Question: ‘Through thick and thin' means-
A) of great density

B) to make thick and thin

C) nor clear in understanding

D) under all conditions

Answer: D) under all conditions

Explanation: Through thick and thin Meaning: under all circumstances, no matter how difficult.

29. Question: 'Prior to' means-
A) after

B) during the period of

C) immediately

D) before

Answer: D) before

Explanation: Prior to (Phrase) Meaning: before

30. Question: Nobody knocked him down; it was an-

A) incident
B) occurrence



C) event
D) accident

Answer: D) accident

Explanation: Knock down Meaning: To cause to topple or fall over, either intentionally or
unintentionally, by a strike or collision of some kind. In this usage, a noun or pronoun can be
used between "knock" and "down."

31. Question: NIPORT f&?

A) T97 f3TF SIETT afeda

B) (*TeI{E T 3% snager afede
C) d™d fRATF STEFeN e
D) ST 3T ST Ao

Answer: A) 39 [IAIF SI@FN afea

Explanation: - NIPORT (feenG) a1 National Institute of Population Research and Training X
FRECTH T [T TSI SI@Fe SfeDTaT|

32. Question: IAHNET FE I ' A1F 8 TETET FIIF A JFEF TN ALFH S
FIAE I M=?

A) So F Ae[(==M
B) X% (3) M2 Ie[=™
C) 9 T Ao
D) 3% (R) R =M

Answer: C) X9 &R e[
Explanation: S:fIN&g SOOI ST5T: GNfeTF AMFTF INefman - b &, Tgfo FIAC &I () (FI &,

(TS, Fef, TPV T THREI FECE F AME 36 AF TN T FEET 911 () 7E 3
SIS NI TNAFET T AFF A6 FIAEA |

33. Question: (S3FFA IPHfSF T, ISANS TATS 97| NFASF SRIF Jely 15T (73) UNDP
fRTTTE BT 200¢ T (NOTEF IRATWCT NG AT Fo?

A) 888 Tl
B) 990 TF
C) So90 AT



D) 990 T 96 Ao Fa1 2@
Answer: This question has been canceled.

Explanation: =6 1feT Fa1 @™

34. Question: THTST IG& ATUEF T ' THATSIF S TS FE Food ?

A) 9

B) b T
C) $9¢ &
D) 83 I

Answer: B) b &«

Explanation: >3 STETH S ¢ fETEE (NG LIY I JERATANF TS (Ae1F F9 FAT 23- - TS -
9 T, - T TSN - LY T, - AT fTHF - $9¢ T, - T TOIF - 83 T |

35. Question: IRAICTT 3, ST IAFGHEE (FINT AIFe?

A) frrea

B) (SIT=ITeTsd

C) S

D) Srg=at

Answer: D) 5gaat

Explanation: - TREHT 35 ST 2G50 ST (STl SHFFAI0 AT | - FIR SFCET SDCS
STICET S 25, SIE el (F4 fRevE aft sfefde 231 -

36. Question: REIR (CETIED (T IS FAF I (FF THAI?

A) 050 T
B) 203@ ST
C) 2030 NI
D) 205@ ST

Answer: A) o050 NI (A) 2010 ST

Explanation: S291% SHI9 sI%51aT (MDG) MDG - a8 Tf@""r Millennium Development Goals T
TR SFF 75 | [T 57 wifFws GAFACER ST TS F93 J9e IFI6 AU THE



MDG - F°11 27|

37. Question: FASEIT (T TRE "FF SrEAoa Fdt 3?2
A) AR T2

B) TS AT SAEW

C) = FRrewra

D) 3T 7%

Answer: A) RIR9F T2

Explanation: - FISTRIIST SJfFPT MR S<f¥e "6 SreAfod it 3o 2|

38. Question: (SIFTAT TFHGF =T, TSNS TS AT | ) SEIH-FHIST TACI S (FITH
STAGFT HIRATF T S Tels IRANTT TAFH@ F© AT 57 I3 FA© T?

A) o0 3
B) @90 fHfy
C) woo fFfy
D) Mo 3R 4G F1fes a1 @™

Answer: This question has been canceled.

Explanation: 96 ifed Fa71 2@®

39. Question: TSI (TNAIT SFF0 JfEY@s FfoTET A1 [F?

A) fAoTgs

B) e a@ed

C) TftFer G
D) I G

Answer: A) 5398
Explanation: CTAIETT SIS fAfie FEH0 JEI@d SIFY: - BIF] (NN - [F87 (e, 2

(e, SRBNF (515, Hf&Y@ SHA - AU (TANAITS - F6 (T - PN (AN - SATA T (TS
- FRF TN AT - fe STy

40. Question: IRTAGETT (PG AFNG (FINTT AIF0?



A) 2T
B) GI%T
C) 589
D) r&PnEt

Answer: B) GI1

Explanation: - IRATT (PG AN FOTRIe A6 | - af6 > W) ST F11e 271 SdB S SIE
aft IETE F7 3 FBFN e FE| - TOIFSNE NI T [T 3 (TG THST SFIF NHAT
TEFS (MBI AFTNSH Tfere 271 (S TRTT (AT PSR SFINIRD)

41. Question: =TS T3 (T s e B2

A) b. v
B) L.ow
C)8.v
D) b.5¢

Answer: B) b.ov

Explanation: - 5 SA1a S57a foisflen&iey sTa (T (NG s b5 ¢ fFENfRIBE| - RTsiaa ey a3
TR TRA SHAT @G af6 ffefe 2w - T fofsfier (M 757 7= 0o, 50 &b BIFTI - 030 WETH
S ST STHT (TQ FFEH P16 CTH X | - TH] (g fors{1e7 ST7ey 20T (0T S RS S o7 3o
M|

42. Question: IRACT STET (FF 2] (GHILGT ST T 22

A) TSI BTG

B) FIfersy H@sT

C) T8 ST

D) f@Emen @i

Answer: A) MTST HTGHT

Explanation: - (555 f633 (IfJ (7131 23 377 SMRfeazm fBfFss smfod ey 3o fSET wibenier e
THOF NfH FT (R ARMGIT| - 3 Tafore T Ao fSF TEMEHF THiote wewa Fafe (I7
FE A | T A FTSTOFIET 7T TN RTHT FAT 77|

43. Question: IR FNOTET FOON AGT?

A) S ©F



B) S@q ©y
C) sov o
D) sy ©y

Answer: B) bv9 @y
Explanation: - IR $9 (FEGTF, $»98 N INNORET SIHTE AHTOT 32-0 A SO b-0

TSt RS SOSRE (FT1 FE| - 97 95 TR N 3¢ (TP6TH, $»98 N 3577, (T {[OJF TR
SNfoET SHES SfHITm TANINET Aol IRTT ST T9 FEA |

44. Question: (41T 3 FMET TS (2

A) TSI FAT
B) Sr=1d et

C) RIS
D) =fma T2

Answer: C) RIRSTT
Explanation: - I$ (F-G13 <1317 &R 39S 2R T304, ©fF N [T S Ao x|

45. Question: INFORE THET AFIWT IAT IRA@A To5f6 (F?

A) {7 a Sifedt

B) ST SIS e
C) TR i (BIgAT
D) =S T4 (1T

Answer: A) f3 a Sifedt

Explanation: - IR S b NI SNSSRE NIETET AHIOH 85-0F AHE Norhed wiidy e
FE| - @ IRTACCTT ATy RROTT DN T (BIYRT TS1ied Tie Aefe FEe |

46. Question: THITST I@ AT FTH Ty FOSA JRANF JFT0IF SIE® G¥© FT127?

A) ¢ 5
B) 9 o
C) b
D) X &

Answer: B) 9 3«



Explanation: >3 STETH ¢ fSTEE (NG LIL I SR TS (Ae1F F9 FAT 23- - T -
9 3, - AT TGN - LY I, - NF fTFA - L9¢ T, - T TSI - 8L Fe|

47. Question: FATFT TRF Af6Pw 2T @ AE@T?

A) $3>¢
B) sd5b
C) xo0b
D) 3>

Answer: A) b93¢ (1995)

Explanation: Karmasangsthan Bank is a government owned specialized bank in
Bangladesh.The bank was founded in 1998 with a vision to alleviate poverty from the country
through financing the unemployed youth of Bangladesh to undertake small entrepreneurship.

48. Question: (FFNRANF F (IF IRT@T [T FooN IH?

A) &
B) 9%
C) So¥
D) v¥

Answer: C) So¥

Explanation: STOTT ST ORI SF1e A7 ST 47 ARS@Ta-205 SN, - FRTCTE
TATRAT SO (FIG BS TH| - TP AT AT IRACTT AT b3 - AT @7 - yfersy {0y 82 - a7
wfSper afATT 0|

49. Question: CTGHIHA BT AT F© I5f [FENRGE?

A) v
B) So
C) =R
D) vq

Answer: B) bdo

Explanation: * (RGN &151: - (76 et G5 IRACTE 5 Wil IO Sod-JIR0T I %o
%G STITE| - A6 FHISH (ST (GFAH 200 AT > [FENHNCIT 7T 9% - AARAAR-95 THHT



@ b [FENGIF FREE % T0ig AT JI56 |

50. Question: FRATT TN & FHM 3© 27 F1 N2

A) 593
B) v»»9
C) $9¢
D) v»99

Answer: B) 5339

Explanation: IR ST & FRPH S0© 2T $»90 FETH 39 (HPIME| - 97 I foeet IR
AfFF & FOMA| - IRATWT TJN S SR IRA@CTT 36 (FRIF ST ASH 3 AT
[ERESIENC

51. Question: (SSFEIT AT T, IS TS 77 1) Y00¢ W JFSANBH T3pel T 7f2Fer-=Re
AP LT (FT QFEAG AES TNA?

A) (Gfers

B) FIIGIaT

C) JRRed

D) faB1 =3fE ifes $a1 @™
Answer: D) fa6r

Explanation: =6 Jifed Fa71 2@®

52. Question: (@1 (Wb FASHSIT ATGE 7J?
A) (GFTF
B) ey

C) (ARTTHISS
D) Yoa1g o Ao F1 3@®

Answer: D) I&A13

Explanation: 736 Jifee $a7 2@®

53. Question: 3TN THTF 71 TFS (F1 (W5 TN NEHT NFH 152



A) TR
B)

(A
C) TR

D) TsTST

Answer: B) ((T9T1«

Explanation: - SSTSTH % 97 S STl fASGIeT| - STST TS NEHeT) S STty | s
TS T et a3 SR |

54. Question: fFSIT I THEA T YA (ASS (F fGeTar?

A) fAer6 a% fase

B) ¥ a5 Farvey

C) fiSa (I35 Sefsiey

D) &9 4% (FERG

Answer: B) ZfF 957 v

Explanation: - fFOI fFRe RS, I DL TET AE [T TR JI78 H6e|

55. Question: (T AFIEH SPNATHET SINOTE AQe T T2 FAT 2J?

A) IfdfeF 8 TNfSF W
B) wifw stf&3w

C) NIHTEel &%

D) forarsrar sifaaw

Answer: A) Ifdf6F 8 STNRF AW
Explanation: - fqamsa1 Af&3ma SPNRCTR fefate 98 sSTTE sf&aww (1 (w1 age Susts R1E

T@HS IE| - ARl Af{Tw efema T2td 8 Afos armees [EEs @R (FE|s P
FE

56. Question: ©IFeIT (APYOF [AABw Tusy AT F©?

A) @8o
B) @8¢
C) 8s8
D) ¢8w



Answer: A) @80

Explanation: S1a07 W4 R 3% 9| - T6F - F1ense] (Council of States) 432 - f¥Fs -
(T1#-5Te] (House of the People)| - [diFS (FHSTF (N6 75T - €8¢ Bel JTF T ¢80 I (S
1w 9 } 39 APIE FoF T@AS |

57. Question: (@ (WCF JRAFT TLTUT (SBIEFIF TS FE?

A) T IS8
B) SRIETIS
C) Iz

D) fASf&S

Answer: D) f1Sf&enS

Explanation: - f07 SE v e ST TS RFTNIGT AT (SIBIEFE M6 FE| TIIOIS, - Do
ST - SICEEAT, - SDoY N - HaeIS 432 - S95¢ T (SANEF JFT (SIRIEFH 7o FE|

58. Question: TS 977 §fe (Chemical Weapons Convention) (1o ST T$ e 23?2

A) 5o
B) s
C) 5o
D) sa3v

Answer: C) 523G (1996)

Explanation: A4 9@ 919 (@14 fI37F §fed 91 - Chemical Weapons Convention
(CWC)I af SfeT T SreEve - TN 936 TS §fe| - 93 §fe Sepa IEfas "
TR, O 3 FARE STAFHCT ¥ | - (T 53 (M7 2O AN 9F TR ©IAG A3 3T R
ERICERRINBEIEIGCY

59. Question: FT JSAEH (FT (ATT S TR FAHO AP featera

A) {5 8T a3
B) (51 JI&ET

C) I as7 By
D) Rl FS© b

Answer: D) ZTEfd Fo(©D



Explanation: ZT5fd f&. T80 IFANZH 06 (ANGH REF| - S0 NEF oI fofd
(ARG f1B® 2 978 S>0© NETT ST Te S79 FE|

60. Question: IW FRGF 5F (NW I (&F 29?

A) AT

B) SIS

C) T Snfevsy
D) I=7ER

Answer: B) I

Explanation: - S121% 33 S SMTEST ST (W S B e (@ 200¢ T G (N4 @ 18 3
TS fREA | - x00¢ T OTF YT TF OFF WS BR AMIGER NG AN ST (77 JTO 3 TN
T | - Y05¢ NI SHRF [T TF O W ©IR NP1 ST SISy ST (1 [ 3 FHTANA 2T | -
OTR (T (TR o ST (0 SR TEHT FTS 27|

61. Question: IFHT (Oxfam) a7 A°F WIF (FII?

A) fro2TS$

B) FIwE

C) TS

D) @5t =36 Tifee Fa1 @@

Answer: C) ©T5d

Explanation: 736 1o $a7 2@A®

62. Question: (FTAM AT TMHF CTISTET SANETIGH AT (A [ 27?

A) 3

B) Hieie

C) IR=@T
D) =13

Answer: C) IR
Explanation: f33* *eTila CTRSIST SHET SHAETRITE $3 (V@ (e 2F - MH13 | - WFI3 G

TGS FE et | - FHfS B W15 TafEe | - V9> TEF R0 fETTIT SGSNeT STIBIEa 6 T3
®Fe (w7 - aft IeNE TwF 936 [ow TFeNre I



63. Question: A (F1 & JENE G SeqEve 23f(?

A) afRa% §f& (ABM)

B) G- §f& (SALT-1)
C) S616-2 §f& (START-2)
D) W63 §f& (SALT-2)

Answer: D) 576-% §f& (SALT-2)

Explanation: X4 (3, S>3 I JSATE 3 FFH N A@S1Mes i 375 TN §fe
Strategic Arms Limitation Talk - 1 (SALT-1) T$Fe 371 TR, S I 995 ST THH0 =7
Strategic Arms Limitation Talk - 2 (SALT-2)| i@, 529 W (Me@® 25fA3a F9F AN
TS (S FRE ©1F (e JSANE 6 SALT-2 R Srejpmmey & fo

64. Question: Amnesty International F© ST (FET NS TAFTF (TART?

A) 5585
B) 9%
C) 539
D) 5599

Answer: B) v59% (1978)

Explanation: SETERS 31 eel(Amnesty International) $>G% Wﬁ@lﬁ(ﬁﬁ?{ﬂﬂﬁ\g
AS® 271 - TEAN TS 97 T0d 73T ATTe | - TG 399 TE T© @NET JFFF 7S FE|

65. Question: START-2 3?

A) fofete seerpifae asfe M
B) Ffaey @ 9376 |

C) 99 (FT62 9%

D) (FPTIsTe o1F 3N T §fe

Answer: B) Iy 1@ a35(6 §fe

Explanation: Strategic Arms Reduction Treaty ( START) ST S*=ifFe (77 I&A1E 8 AFR1| {fea
fAa%aT: (FPTeTsTe orF 271 - START-1 THH® 27 0 CT IR v - START -2 TS 27 ©

S SD>©

66. Question: I fAfHFSHATT (AT (ARF) 97 9SS TRAT $672



A) S
B) 33
C)rv
D) 29

Answer: B) 33

Explanation: ASEAN Regional Forum (ARF) 558 ST sifde 31 - A (7T 3% 97
FAEW @ a2 fF@rrer e HEEG S| - G o - 2961

67. Question: NEERT EF THFANG! ©. NI CIRFEY F6 I29 FAGT RET?

A) xS TRF

B) 32X 9=

C) ¢ =T

D) 38 =T

Answer: C) ¢ =7

Explanation: STFRPRTE SEF FaTawat MERF GIRETW (Mahathir bin Mohamad) S»3@ ST
SR FEN| - FOfT S WS ST (V@ 2009 N 5 B 3% TR (W07 TS ety |

68. Question: FRTTT F© N I FEAFT HTF T S FE?

A) $93 ST

B) v ST

C) $9¢ T

D) $»98 ST

Answer: B) 599 NI (B)

Explanation: $>b> SEF 3¢ (BT TI@IF TSR AT I SCH 2737 (SIARY) Afefoe

Y| - 97 Yvgudd (N AFEF GwF | - ST F95F (7 €9 o1 - IRTT S8 ST TRIF NEAAE
(FFSTT STEHeTeT) SR W e I |

69. Question: 3F@FT ISHF (ANTH I TR (@FH THITI?

A) St
B) fr
C) (FIB2 9%



D) $f%

Answer: B) far

Explanation: 331Fa IO (ANGELF A1 - I F(€7 (20351 - fofF 30 v (AFETH | -
0%k NIETA X BT fofel (AT R Mg o2 S | - fofey $% =eMg© 21F Foaihefaml -
AF BT X005 - S (NI PIIAF TN (et |

70. Question: (FTo T AT TLFA (AT TAHIF A?

A) SN ST ST
B) 3 Ve 9% e

C) TNT M2
B)ESICIRIERI G}

Answer: B) 3q1f4g SI91%T®

Explanation: & 8 3ATE - 97 RERTA 1% Te19F Fa7 8 AT A6 STo@ AfFaar
T JEAEF TETTOT TGOS §fe T 77 39 (BT 29 T, I Hephote FHET
FBANS A TS 3 FNARETH AT (AR (@ 529 T MRS (A& JFH TS FE|

71. Question: (FHAG SAATIH?

A) Tgd 519
B) (SIS
C) ST feraT
D) Feigana

Answer: B) (@RI

Explanation: - FT8! 72+ 3N A6© FIITTE- '@ 57| - ‘FNIPAET AF ASF Aow STHIN |
- 'STB(TPT TOCTNR I 60 STIIF| - ‘(T P (NE Afow AGF |

72. Question: (FNFF FIRAT oA ToTOT (F?
A) SIS

B) (BT S5

C) &13w S[TeTe

D) (MIT® FTSi

Answer: A) 18



Explanation: - (MFe F18 (NFF NFT T3 I - Sl TSI 3 (TIoT" Toa] FEA| - 4 FI
T ST fSfel 2 N[ TR0SY T @A | - 7 & TMR0eY BY (RO AT foaeT |

73. Question: YIRS "[HFF 97 T F (F?

A) I CIRE RIS e SiRerm
B) 31 (TRTHw (NRA STl

C) T34 @07 St

D) T SIS fEaT

Answer: A) B (ErIw fRAES el arzer

Explanation: N1 9161 (A LB NEH b ToFF (5304 T Y0 FMeP) FF1e 930
MRS AP (@GR M2, (TR (FIEGwl 9A=2% 3 (T4 ANIF IR G a6 1 re
T AT T I TGS R CTH AT R

74. Question: INF CIRFETGT (@ S TFo 27?

A) 533
B) 35
C) 33
D) 39

Answer: B) 533

Explanation: (RETGT A6 e MNF AAFT| Lo FETT ASFH AT NPT AFIN AT ST
FFTe] (A A6 FFIFe 2| Ffud T3 WFTF 77 4229 (¥F 189 W g Ffaz1t e e
2T

75. Question: @ AAFG SO AT TF ¥ © 3J?

A) Ffergersy
B) 7ife

C) s[957a
D) 3T
Answer: A) F1fegersy

Explanation: FAFTOT IF10 T FETT S>30 | - FENT AFFT TH0F AEIISS 9PT1 - 93
AAFF (F4 @ Tod MNRISTF I77 WofF 2T 932 ‘FET I5T AE ST 9376 JEF 7B 231



76. Question: TIF (V& IF 16 2 (@ Mfas16?

A) srafe
B) sIf6¥
C) 937f&
D) =If&

Answer: D) @1f&

Explanation: - '1f3' 5fa%1 $>80 W 61T (¥F JFI1e 2| - A6 CIFTR Fsife (F74F EF J¥*a| -
AT I TS (RS FCPT T8 | - FEE AAFE T - SE@ad arT| - = i sfas|
T (e Sorga FSad| - 6 FaFTel (A FF1MHe TEMRF Jas1 - 'A={e7 sfaFo
SEGAIN TEd TN FPTe] (F TIe 26|

77. Question: 5% % FAG?

A)W
B) it

C) T
D) 7

Answer: B) ﬁ

Explanation: W, 31 3 (T2 I <127 | - WIS - GIAG, - (TR - (AT 3 - 201 - SRa ez
(@ THAS® @ IRTT AT

78. Question: IRAT ST FIMG TG FRAT So55f ATR?

A) SferT

B) F%

C) =

D) %

Answer: A) SferT

Explanation: F1e SIFTR 216 11 S=575f 3 6 932 Sage Tofwisf 20 O

79. Question: "FrRAEY 12 GIAG AF (A6 T TLF IR 2J1* FAGAN SIFEF (@1 ST=D
HRET?



A) agafa

B) ©5®]

C) (TFGAToE
D) Ss1f&

Answer: C) (STFGATGE

Explanation: Sy F374ay SI3EA 3251 956 (=G| - ©fF 538 [ 92 (651F sfFal - a2
(=GsrEs fmre S Frasmen a2 (Tafe i (bt e oma IfeeR 23

80. Question: FIRAT NRSTT TAT SR 5% (FHG?

A) BT IRtV 2fOR1T
B) J1eeT WfR0eva =&
C) I SR FT
D) I5e AT 8 HIReY

Answer: D) 5@ [T 8 NIReS

Explanation: - 'I5/@ T 8 SIfXey I NfReT F240% 3oz 5% - aft T6Fe FE Qerww o) -
=6 TFre ERINCDICISI G

81. Question: Fe A6 I35T SEHETE FAF Mo AAWEET ‘SseIfFd T Mo FEA?

A) S5
B) bdov
C) v»vv
D) va39

Answer: B) b»ov

Explanation: $»3© NI 350 SEFENE FAFT6] [ARAMEAET 'SHRiEar *ms 716 FE 9%
SDOY NI GIFT FRFfAmerR (3@ 5166 SN e S|

82. Question: TS TNERA Fo© IRAT FIFIET A1 [F7?

A) TR T

B) © 1T 3 I

C) TeSHT TFHA
D) (TG ATFaT



Answer: B) ® T 8 F9

Explanation: TS TGRS 17 bb0© NI (STG1F FFIT T6a] FES|

83. Question: ‘&I #F IFfo-TeiF F7?
A) T + 8

B) Tz + 8

C) Mfx + TI> 8

D) W% + TIT> 3

Answer: B) (R + 3

Explanation: SI1> 8 ei¥ (AN + TI> 3 = AIT>CAR]|

84. Question: (F NfFHfG A MMe@ NgH?

A) F + 9 = JPEH
B) &% + (%W = O(=n
C) T3 + N9 = AT
D) *1F + o1F = AT

Answer: B) 8% + (%9 = S(&"

Explanation: F&SE Sifah (FIET [AICT Mo 27 97 a9 Sfh@ fameE Na sifh qe7|

85. Question: IR (NTF ABEF IAT BF T (P ALIFET 2O ?

A) T4 Wg
B) fevag o
C) Sifema 515
D) ©1ATea v

Answer: A) SE1d g

Explanation: St S IR HIR0SIE T GNfeTF 63 'SUEE SF1o 271 - AHH6I T6e] -
SIATEAT FFrd|

86. Question: ToTF (FTI FFF TN NEF (FT] FFF QAT FACET TOVF A Fe71 27



A) Sofire
B) TTaITe
C) 5%

D) ST IT

Answer: B) &5F

Explanation: Se'% (319 358 N @S (F1F IFI Q1 FAE TOIF IAHE o1 27 SHOI | (Ioa-
TNET T P2 (T = INIPRE| I =30F' TN A3 '@ TAEI | @F] (T T T3 |

87. Question: "N T F@ T TNfF TR Tefea TofTer

A) TFAITT ©FTS
B) f=iat e

C) 36T FepmIF
D) AR GFTRFTT

Answer: C) 3354 J5vid

Explanation: STea0M! (5108) 8 INIWAT (S B0 b) AGAEIRET (NS FITFIE| - o AT FFFre
ofF s 7 (5185 8 Yraw) Fama TSI A6 AT 57 - N 5T FE J9 TS (M2RT
Frsdy 92 fanre FFerb Bia2 I64T|

88. Question: 'Y fFIWIIF FAT IR - 97 FToTOT (F?

A) P 9Ig S
B) I 2R
C) %=y AR
D) 91q 3154 SIFGAR

Answer: A) SNFT@IE 3119 S5

Explanation: 13 %4 STRAYAR 0»fb Ffe] Wafie ‘anfi fFausia F31 Fefe F1E0 T6a01 FE |
- 6 SFITS 2T SoWS | - NTead! X1F A % SIIGER Ab© S FIHIF| - T F% (ST
O SO FITE|

89. Question: 'SIFE WP 8 NRTT MFI' T F© @ -

A) AT
B) BT 3[SedT St



C) ey 3
D) =1y (1At

Answer: A) IFN6%

Explanation: 537X (51§17 {32510 Tf&: - S[fAf%e (@71 w1ag IFSe (I25701) | - ST TR 3 20©
FCIE A AN, SEHI6T FACO (ST (X BY FIT NS - (STHF )|

90. Question: ' M5 CTEF F1CT - 4 Tt (AT (FTo7 X FTIAF T TIR?

A) faeEE e

B) F5_163 R0

C) & A6 AT
D) REIGRICERSICRIRC]

Answer: B) 1163 {0

Explanation: fCTF o T3« 72 1 OIS fFOTET M7= A& Se1, 9771, SAf=301, oo [T g
AFoF T3 T ATFH T WP, ©IF TR AN NIF J¢T |

91. Question: (T 2 FIECH AF?

A) faa 2fae
B) f&ww 2fae
C) IR0 &
D) (SETT 2faie

Answer: D) (&1 &

Explanation: (T8 YR (T AR I 8 (NETT e F471 37 SR I FRFEGA| - I 8 CNEETH
f37er tofel R8T =1 6@ Wt A NS (W7 2F| - 57 2 FIHEC A ATl

92. Question: YT (76 S e AT 702-

A) ST T

B) f<Gr af

C) 93 afy

D) s A

Answer: A) 3Ie%T 31



Explanation: - SITSsIed ST TAGE HeFa JR 2E ST FRA| - S IRIT SToIHT TIGE FH
28I A7 (S FHOI8 FIGE (@1 NN eI st 930 f3sfe 271 - 61 8 ety a3 sam
I QTNT T o |

93. Question: R T3NS FoH TF® AF?

A) 76

B) GG
C) =3fe
D) 57&f%

Answer: A) 96

Explanation: N@ES 73313 517 S [{oE | ATTET TS BT I& ATHET (T 8 IV Afer)
OME AR T AR I8 ey (T 8 I foyery) fos sraf%e |

94. Question: (IF FIE A SIETOIE 2, FIF-

A) T S BY BT FT FI3 FT AT

B) T "M@ ©I7T NIHo 27

C) Jf¥® ITF ©rf AT T2TF

D) SHEIT OIS SHoaTkF i M

Answer: A) FIFIF i) BY ©TT FF 5118 FICS 1T

Explanation: (5518 $31E T1ET ©IFTOIH 2T F1E, FINEH (SO Mo oS ATTT I Al @R
FRE ST A | BT SHENT OFETH oaTikF @ MNT| Ate IMGe BT B 3@ 11 T ©roreiy|

95. Question: AfT=Ae (ofF z3-

A) fraxfete
B) fFTdie
C) &m
D) I3t©

Answer: A) f5a¥fete (In the liver)
Explanation: IBIGEIECRCIERR] JPO AR A S| S 3T AR - Bilirubin, a brownish-yellow

pigment of bile, secreted by the liver in vertebrates, which gives to solid waste products (feces)
their characteristic color. - It is produced in bone marrow cells and in the liver as the end product
of red-blood-cell (hemoglobin) breakdown



96. Question: T NFF [ (FA SAMES T4 fA6a F@E?

A) et
B) A1
C) D
D) GeteTiferer

Answer: D) (enfae

Explanation: - (ol F9SF 9F NFF IHF 0T, J] (TANATTRE TNF (F1F (@ (O] T, I FIE
T T ST A STNGT, T 8 (BIF i TF eTF SN 2 |

97. Question: MG AFPNE S FE fForT?

A) St GIE=Te (BTN SIRIS

B) FHISTG %1 58 FI AW AT [T FE
C) SEFeld

D) 38 *1=id afesRfa 8

Answer: A) ST 98T (BT STRIES

Explanation: 7S 3T1F ¥ <F SfoRf TR FE | GG (ofF A3 T4 ST Bate MR ],
FIT {0 AMEIICT TR ARG CTNE IRET FNET T4

98. Question: SR AW SIFTFT AT

AN, P, K, S 8 Al

B)Na, P, K, S 8 Zn

C)N, B, K, S 3 Al

D)N, P, K, S 8Zn

Answer: D)N, P, K, S 8Zn

Explanation: N, P, K, S, Mn, Fe, B 8 Zn Sfed Jf8 (@I | T35 F39-71 (IE §iF @ @16
GEY

99. Question: 9T @FEH DNA a7 TRETEH (I97?

INETEIBE



B) SR
C) ffasfEa
D) (sTTfere

Answer: D) (sTfere

Explanation: &g IS s S DNA| DNA (G 51 §T@F ARG (5 AF | IN-
ST, S, TREGI 3 AR |

100. Question: ) [ (F1AMG TR FSHFITT AT AT?

A) meson

B) neutron

C) proton

D) electron

Answer: A) meson

Explanation: SEX19F 9Ff6 (F A, T T ASFAST| 92 fASFACT (B 8 ACEN T2 I |
TOAR TAAF TFT HAF AT 932 T T TIR ASFI (Faige |



